2022 BRI — T =N BOR = b B R % B

1.

T B R A X R 2 ST R M IR A - SR T SR ~ 2

200
L]

=1

ade 40 - L.100 -
Emﬁ%ﬁms <100
50K =200
T dﬁm@ +300
LT *40K1 +ATI 500
il 500w '
+ I +a00 =4{H}
=100 e LY . 300
‘
e T *2A00 2K
1

1. IRYEEP{E BN, T 5IUE IR A R (

A, BWE.
2. B IgHH, AROR 55 B R (

)

)

H>7 B. RE: W>T C. K. 2>T D. R \H>H

A. Bt B. Z4b C. Ak D. Th
2. -
B2, STER3<4HR
| un‘}. J\“}‘
e J H L
= -t @ 5 .
w’ -im
1nwf {1 fu
Mz
3AREE NGB TR ¢ D
A. 1A PFHRERBTTET W B. 1A FHSERBHKT ZBTH
C. 7THFHWRERW T & T LT D. 7THFHWRERWH KT 2T

4B R ZPmE T C )
ARHPIR, 1R R

COUKBH, FUEFJR

BILDCFJR, IR R
DRI, FACT R



